+30| ALg) 139 10 #5779 S4 7t &
= ADDRESS FUNCT 1 O == Tt scale = range 21EL
HEX DEC
Ce05E9 1001 03,04 Yolt L1-H ¥ % 1 unsignedlb 10~300 RAZEE DY
(k<(05EA 1002 03,04 Yolt L2-H ¥ x | unsignedlb 10~300 AMZEHDE
(k0558 1003 03.04 Yolt L3N L x | unsignedlb 10~300 TARZEAOF
O05EC 1004 03,04 Yolt L1412 ¥ x 1 unsignedlb 30500 RS MZ2EEOF
k055D 1005 03,04 Yolt |23 ¥ x | unsignedlb J0-500 ST MZ2EEDE
(e<05HE 1006 03,04 Yolt L3-1 L x | unsignedlb J0-50 T-H M2EHDF
035 1007 03, 04 Current LI A =100 unsignedl b 0-~6500 BAYNE =
_ (k<0570 1008 03,04 Current |2 A =100 unsignedlb O-~6500 SitE=
A= =5 (k05K 1 1009 03,04 Current L3 A =100 unsignedlb O-~6500 TAPE S
Ox03F2 1010 03.04 Frequency Hz x10 unsignedlb 4565 ik
OkO3F3 1011 03. 04 Apparent power kYA x 10 unsignedlb 065535 Mi<faks
Ce05F4 1012 03,04 Active power kH ®x 10 unsignedlb 0-~-65535 Fafs
<0575 1013 03.04 Watt hours K¥h x 10 unsignedlb 0-65535 waHEZHK)
056 1014 03.04 Watt hours H¥h x 10 unsignedlb O-~-65535 FTaHAEEHNH)
0:<03F7 1015 03, 04 Power factor COS %1000 unsigned16 0~1 s
w_ = = FE=J} FIAF
0«08 | 10I6 03, 04 AZ KA/ - - unsigned16 0:RIA, 1:314 o E A2 SR
bit O - O=off. 1=on ACE OM LED
hit 1 = O=off.1=on ACHB OFF LED
= bit 2 - i O-off, 1 IEE 1D
<071 2001 03, 04 (LED =SAEL) it Binarv1b . 170N LR
M| == See bit 3 — D=off.1=on UEESE L HD
bit 4 — D=off.1=on AHES LHD
hit 5 — O=off.1=on 2% 1H
bit 6 = O=off,1=on AlS LED
00702 2002 03, 04 {%{'Iﬂtgé Efdﬂlel bit O -~ Binary16 D=Hanual, 1=Auto FHRC Hode &l
k1369 001 03. 04,06 H2F HH Yac ¥ 1 unsignedlb 200460 Default - 380
(k<1384 02 03, 04, 0b CT ratio A x 1 unsignedlb H ~ 9999 Default - 500
k1368 5003 03. 04, 06 O¥H Yac A unsignedlb 100 ~ 200 Default - 120
(k<1380 004 03. 04, 0b MR Yac A unsignedlb 70 ~ 100 Default - 80
(k<1380 05 03, 04, 0b OCH A A unsignedlb 10 ~ 150 Default = 115
- - : —100 (Return Yalue - 50) Default - O (Return Yalue - 150)
(k< 138E 006 03,04, 06 Yolt Calibration(RN) Yac % 1 unsigned1b ~100 (Return Yalue - 250) Xlrite=lD: GO-2R002 QI
: i : —100 {Return Yalue - 50) Default - O (Return Yalue - 150)
(k2 138F 5007 03, 04, 06 Yolt Calibration({SH) Yac % 1 unsignedlb ~100 (Return Yalue - 250) xWritexn: oo-gen02 1=
: . : —100 (Beturn Yalue - 50) Default - D (Return Yalue - 150)
k<1390 5008 03, 04, 06 Yolt Eﬂllhrﬂtlﬂn{]—"] Yac % 1 unsignedlb ~100 {FIEturn Value - EH]} Ewrltﬂﬂﬂ: o-250o 2 EQ
Sy : —100 (Return Yalue - 50 Default - O (Return Yalue - 150
SETPOINT k<1391 5009 03, 04, 06 Current Calibration(RN) Yac %1 unsigned16 ~100 {Ehtul:;nqa?ugez 251]% ﬁaul.l.lriteﬂjl'i: EIL!IEI-EIH]aEuEE (o= ]
. : : —100 (Return Yalue - 50) Default - O (Return Yalue - 150)
(k<1392 010 03,04, 06 Current Calibration(5N) Yac x 1 unsignedlb ~100 (Return Yalue = 250) %Write=tD: S0-P50Cz Q1=
(1393 5011 03,04, 06 Current Calibration(TH) Vac % 1 unsigned16 Sl L e itedtn - oo o1t
(k<1394 H012 03, 04, 0b Auto Scroll x 1 unsignedlb 0~ 10 Default - 0
k<1395 H013 03, 04, 0b ACHB XICh ARS(OVR) % 1 unsignedlb 1:¥YES, 2:HO Default - 1
k<1396 14 03,04, 06 ACB =t AFEE({ILMR) % 1 unsignedlb 1:¥Es, 2:-NO Default - 2
(k<1397 H15 03, 04, 0b ACHB XIEH AREZ(0CR) x 1 unsignedlb 1:¥YES, 2:HO Default :- 2
k1398 H016 03. 04, 06 ACBARE % 1 unsignedlb 1:ACH, 2:(CH, 3:NO Default - 3
k<1399 H017 03, 04, 0b Hizidl=2 ARZ(0CR) x 1 unsignedlb 1:¥ES5, 2:NO Default - 1
(k<1394 HO18 03, 04, 0b Hizidl=2 AEZ(OYR) ® 1 unsignedlb 1:¥ES, 2:-HO Default - 1
k<1398 5019 03. 04,06 tizidl=2 ARZ{NR) ® 1 unsignedlb 1:-¥ES, 2ZHO Default - 1
hit D = O=off,1=on ACB - OM
bit 1 = O=off,1=on ACB - OFF
ACTION k<1859 001 06 sHAH| slLl2] HIEDE Mok 2 bhit 2 = Binarvlb D=off.1=on COMTROL MODE : AUTO
bit 3 = O=off,1=on COMTROL MODE - MANU
hit 4 = O~off,1=on Fault reset
1 43 H BH
2 2T HEH A
s 3 TR Ho/g
4 soje gz
B 0|8 BOSY
) SETPOINT Hl0]E 7 viius 2|2 2 golH7 S,

FIERAREE - 100204 1007PFA] S 27 ¢ AlAF g {01 02 03 =9 00 06 14 78)




